EARAROBEEIERT — 2 N— IBISH —F

20161130 (k) 17EXAH3H

YAl & 2% 3m® 6 08 L1 1 35K

‘ [R1%] & ‘ [REBB] — | & (&) 14000 B

[AE<%] 1 7 :1,400,000 2 j& :490,000 § 3 7 :280,000 4

4 7% :210,000 B 5 j& : 140,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
; —: ft 3 | REEZ 1:30.2 4-6-6 |39.0| — 2 440 | BHEZ (KH)
11812 d—-—n7>74 5.0 (=) (<) |M-Kenichi&—7s>7
R:d—IK7Y2—J)b B:33Y Pzt e ]
. . s 3 | EEEEA 1:30.7 2-1-1 40.0| — 6 399 |EEEX (KH)
2157 Voh—2v— 54.0 2 1/2) (-3) |&ER
L:FLI /X BiLT—IT TLA BEERS
B . = it 3 | BBXE 1:30.8 12-12-11 [38.9| — 3 465 | SLAEMR (KH)
3l5|g|¥avya—07 54.0 (1/2) (-5) | SRR
LNMVTSY B:7O-T5%v b ESstae]
RREE— . e _ SAER (K3H)
al1lq|Fvoa=F 4 3 o 1(.33/%9 4-5-4 | 40.0 1 :??) TJL\;/A\W@
R:pxExY BFvIHRER bt
R i 3 | R 1:31.0 7-8-8 | 39.7| — 5 481 | FELLBSIE (/\iE)
5\7|10| 7 7Y 74N 54.0 (172) Ciy) | EEHEAR
Ry—UrH— BFIIIURTA— L — Xk — A4S
: 4 3 | BHE 1:31.7 13-13-13 [39.3| — 9 468 | ETEM (1)
6711 ErZILA 56.0 3 1/2) w12 | ) TUK.
Zoxq4o B:7IUYI-Y 3y H—L—+TvIN> - T7—LBERS
#1138 : -11- - FRAN—5 (KFH)
JAY (1Y 3 o 1(.13/12.>8 10-11-11 | 40.2 4 (4_866) mgw;
R:2&—-Uri0-X B:YITITIL AN szt e]
T4 IXFx 0O # 3 'J‘fg#ﬁ* 1:(322).2 11-10-10 | 40.6 | — | 11 tzo E%iék#)
LHBSAN— b B HIETSY O \mx mx
- e ) > -
TSATHIADT i 3 g_ﬂal_ﬁ 1.(312).4 7-9-9 | 41.0 13 | 420 fﬁ%ﬁ (K3)
QA0 BTFITFLTy b 2 | s e ums
5 ; . £ 3 | BB 1:32.5 3-3-3 [41.7| — 8 483 | ARELE (/W)
JNFHI-LE ~ 7 86.0 (3/4) Ly | B mm#TR
RiF— W RFPY2— 8754 hrED— YN T 7 — I
. HEE : -3~ — HEakz (K#)
I/ AR — 38 173%:? [ R 10 (4_731) KEFH
LZNAF21—)b BT /TITRF RO%%
o o 5 i 3 | EBAH 1:33.0 6-7-6 |41.8| — 7 483 | EEFH= (KH)
Xy T4 —+ 56.0 (2 1/2) ) Bl SRR FF
¥+ T7oX70—77 BEI> ATV fie]
NS WTPINS . jt 3 | REEE 1:33.8 1-2-2 | 43.1| — | 12 | 450 |AREEZ (KH)
NIATITF 4> 54.0 @ o) | B mEER
=) H—- B:¥o~v #RAEt RUMI 77 -4
® I—F—@EBIERL
13—-7-
20—+— |[5,7,8,(1,12),2,(9,10,13) ,4,3,6,11
3T—7— 7,5,(8,13),1,12,2,10,9,3,4,6,11
43—+— |7,5,8,(1,13),(2,12),10,9,3, (4,6) , 11
[ RN
B 12 410M 794K 7-12 1,110 & 5-8 780 &R 6-7-12 4,080
# B 12 160/ 6-12 430 B 8-5 1,290M 3EE 12-7-6 26,260
7 350M 6-7 1,080H B = 7-12 3,100
6 160 B H 12-7 3,840

ABICOVWTRDTEEERROODE. TR LIV,




